Reasoning

Area and perimeter

 Challenge | | " You will need:

48

e squared paper
Eve, Sofia and David

e ruler

each worked out —
the correct area
of Shape A. On Eve
the right are the OEx7)+6Ex3)+Bx7)
calculations that the =42 +15+21
pupils did to work < 14cm =5 =7&cm?
out the shape’s area. Sofia David

(6x4)+(3x4)+(14x3) (14x7)-(5%4)
Explain how each pupil worked =24+12+42 :?g -20
out the area. =78 cm’ Sl

For the second
‘What if?’ fask, draw
aond label your
shapes as accurafely
as possible.

If necessary, use a skefch fo help
describe how each pupil worked
out the area and p_erime’rer.

Eve David
| 6+7+6+7+5+3+5+3 || 6+3+14+4
The three pupils also calculated the +134+74+3+7=62cm +7=34cm
perimeter of Shape A. However,
they each got a different answer. Sofia

Who worked out the correct perimeter? 6+4+5+4+3+7+14+7=50cm

How did the other two pupils work out the perimeter?

The area of Shape A is 78cm?. Draw a shape that also has an area

of 78 cm?, but where the perimeter is different from Shape A. When you've

Now draw a shape that has the same perimeter as Shape A, finished, turn
but a different area. to page 80.
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